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AN ATt
HE: 0ge 29
Sl plge IR Y A&BR (er:@e)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
IYRATEAE S 2e 42,200 42,200 0
< 12,000
s 30,200
201 £B-2d| 2,200 2,200 0
02 =224l 2,200 2,200 0
Oolgel BEANAH SAY JHAER
100,000& =122 1,200
Ooolg? FEAM0ld SXNE+ 83,3308 128 1,000
401 A& HIZ 2018 40,000 40,000 0
< 12,000
s 28,000
01 A& HI 40,000 40,000 0
OB ELSAIE X ALY
40,000,000& =14 40,000
< 12,000
i 28,000
bl 4 X2 22 82,000 82,000 0
obl=z =4 X& 82,000 82,000 0
201 ¢4l 2,000 2,000 0
03 A2 Z Hl 2,000 2,000 0
O st &AL 2,000,000& x13] 2,000
403 MHXISHHE X201 E 80,000 80,000 0
3oblZsdXENEE]X 80,000 80,000 0
OFUXFIY L KH2RH 28 S
80,000,000 » 14! 80,000
ol zte| 55,964 77,156 A21,192
AN ERR3 2 55,964 77,156 A21,192
301 LEHZ 55,964 77,156 AN21,192
0B A =ERRAZB LS 55,964 77,156 A21,192
OMI=RE B4z 55,964
—Jl=s 587,100 x6H «12& 42,272
— 24| 6,000 «6H x222 <123 9,504
— sl 2,000 «6H #2224 «12& 3,168
— o=l 300,000 =3 900
— 28z 20,0003 x6H 120
HiAOH =& 8,900 14,600 A5,700
SXNgs E HladblEd 7,700 13,400 A5,700
201 Let2d] 7,700 13,400 A5,700
01 At 2teltl 7,700 13,400 A5,700
OEXEH=9E &R A L 244 5,700
SA(Z A A4 8,000 «100H 23| *3 4,800
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HE: 0ge 29
Sl WA THE & CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— 2hA 3,000 100 *33] 900
oAx&s & 23 ¢ 2,000,000& =13l 2,000
SsgEgs € NF=ER 24 1,200 1,200 0
201 Let249] 1,200 1,200 0
01 At 22l 1,200 1,200 0
OSsYgols L NA=22Y
300,000& *43] 1,200
ol & THE ol 15,328,439 25,240,807 29,912,368
= 1,452,983
< 2,133,172
s 11,742,284
THoOH AL & CHEl & &&= X 3,407,219 2,201,379 1,205,840
= 1,131,262
< 475,084
[ia 1,800,873
/gAYl XN 379,450 24,450 355,000
301 LA F 29,450 24,450 5,000
03 S ALK& B 29,450 24,450 5,000
OAEALEMH 43 A 29,450
—Z Jl=ddia & Jt=sote dAb
11,000, 000& * 13| 11,000
—E Jl=Z3dis 2,450,000& 13| 2,450
—d35g WFRHEA 3,500,000& =13l 3,500
~QHIBAYHE MK A
7,500,000& x13] 7,500
—EAYAY AL X
5,000,000& =13l 5,000
401 AIEHI L 201 350,000 0 350,000
01 A& Hl 350,000 0 350,000
O8gHd a¢Xtn &A= 350,000,000 170 £ 350,000
=2=0 CHEAIE AXIALS 191,347 251,961 A60,614
= 2,410
= 723
s 188,214
101 1244 dl 164,143 189,791 A 25,648
01 2= 27,124 26,750 374
OWEZE 20| HI&4Z2R =g (dEtA)
10,5953 x2H 20 8 Al 2t+8H 2 A 27,124
02 DIt B == 374 0 374
OWEZE =0 Hl&422 =2 (JIeA)
11,6703 «2H x24 +BAI 2t 10 R M 374
04 JIZHHZ22XHEES 136,645 163,041 A 26,396
OWEE 20| ¢NARA 136,645




S QHETH LD

2 THol = M o
SRl THoHAIMTHEl R A& RX (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—Jles 75,8003 x28% x44 93,386
- T4 75,8003 x28H 8 16,980
—Qlx=g 75,8003 x28Y x2 4,245
— Sl 2,000 28 44 2,464
— =AM 4,000 x28H 442 4,928
—4HEE= 122,011,600& *12% 14,642
201 Let24d] 26,004 32,370 A6,366
= 2,410
= 723
i 22,871
01 At 22/l 25,740 32,370 A 6,630
Ossoletd=& 2218 3,000,000 =14l 3,000
20| M@ FH 2L 200,000& »28H 5,600
O2=0 HFAIE X (KHA)
880,000 » 1404 2 12,320
O2=0 HFAE HX(BEX)
4,820,000% 14! 4,820
= 2,410
< 723
i 1,687
02 =24l 264 0 264
OREHASEANLY SHRS
11,0002 200 2+ 12& 264
202 44l 1,200 1,200 0
01 = LH 4 Hi 1,200 1,200 0
Og2s0 oz Y2x
20,0003 x2H 52«68 1,200
HEOHMFANUS AHMNSF 3,000 3,000 0
= 1,500
< 600
[ia 900
201 Let2d] 3,000 3,000 0
= 1,500
< 600
[ia 900
01 At 22l 3,000 3,000 0
OMBOIMFAHNS AFDE  3,000,0008! 14! 3,000
= 1,500
< 600
s 900
N 2ot 2s 98,220 51,560 46,660
= 28,000
< 2,091
s 68,129
201 €24 21,100 20,100 1,000
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= — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
01 At 22l ] 21,100 20,100 1,000
SEPIIE DINESI} HALY
100,000 4 H x43| 1,600
O=JtetH EEZE M
1,000, 000& *13] 1,000
OQotH 2tel Al Y AHASH=E HE
40,0003 *80% 3,200
O3txHcH ol ObA3 WA E HIR
55,0002 * 120 K| € 6,600
Oord 2 Y oEBRANSG BHLY
70,0003 x10E «53| 3,500
Oetdzal2s 822 A 200,000& x203| 4,000
OZ2&X &5 119t HE 2 As
1,200,000& *13| 1,200
202 oddl 7,020 3,360 3,660
01 SLHOIYI 7,020 3,360 3,660
Ot Z E(EH) 7,020,000 » 14! 7,020
303 Z& = 2,100 2,100 0
01 Z& = 2,100 2,100 0
OotE 2 U S=SH AMA 2,100
—i®F 1,000,000 =104 2 1,000
— 221 500,000% *1J4 2 500
— & (2 300,000 *20H & 600
307 21201 A 28,000 26,000 2,000
< 2,091
[ia 25,909
06 23 28,000 26,000 2,000
O=glotdEd 28,000,000& =13l 28,000
= 2,091
i 25,909
401 AIEHIR S 40,000 0 40,000
=2 28,000
s 12,000
01 A& HI 40,000 0 40,000
OM2el X HEED M=
40,000,000& =14 40,000
= 28,000
s 12,000
MES etdstI &= 12,540 12,540 0
= 2,895
< 1,158
s 8,487
201 £B-2d| 10,940 10,940 0
2,895

Rt

1,158
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=13

RSN (&)
SA - BB B () - MM - BES Ol &t o San HmEET
o 6,887
01 At 22l 10,940 10,940 0
O=7&H gz 500,000& =4 H 2,000
Og=9 M= 70,000& =154 1,050
Oogote R 50,000& 204 1,000
Ootdst=2¢& &I SAMS
8,000& x50H 23] 800
O¢otdst=2d I A S
3,000 x50H »23] 300
O¢tdst=2=d 5,790,000& x 13l 5,790
= 2,895
< 1,158
i 1,737
301 LEHZ 1,600 1,600 0
09 HALAHIX A S 1,600 1,600 0
OMUUS SHEs2Ee BT AHlL
8,000& x200H 1,600
Mt FHAI 2 X & 63,000 63,000 0
201 Let24d] 63,000 63,000 0
01 At 22l 63,000 63,000 0
OMEHAIIR I ZAAE XA
18,000& *3, 500 Al CH 63,000
OtMEH 202l ZHAY 40,000 30,000 10,000
= 12,000
s 28,000
401 AIEHI L 20 40,000 30,000 10,000
< 12,000
s 28,000
01 A& HI 40,000 30,000 10,000
Ootdsh &t2Hel =& A
40,000,000 104 2 40,000
< 12,000
s 28,000
D29 ZSE oY T US 170,000 53,000 117,000
201 Let24d] 170,000 20,000 150,000
01 At 2teltl 170,000 20,000 150,000
OZZ2ULH9 ZEE Mg tA3 ¢
150,000, 000& * 14! 150,000
OZZ2ULH9 ZEE g =35+
15,0002 *1,0004 15,000
OZZ2ULH9 HEE Y 222 MA
1,000, 000& *53| 5,000
XH o AH& CH B 215,082 172,992 42,090
= 19,930
[ 195,152
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=13

= RN (&2 &)
SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 142,762 136,492 6,270
= 2,500
s 140,262
01 At 22l 31,500 30,750 750
OXNATHL EEZHSMH=Z ME
25,0003 402 1,000
OXNATHHIIH S22 M2 3,000,000 14 3,000
OXHMHUNES FAH(ZY, S0 S)
8,000,000 » 14! 8,000
OMoE eI ARS A==
50,000& x5% »123] 3,000
OO0IMel =HAIL(AHOIH) RX E=
6,000,000 » 14! 6,000
OMtSeaas 323 HEH
150,000 23| 300
Osdl & 223 P2 1,000, 000& 1,000
OMtEgaaas A28 7Y 1,000, 000& 1,000
ORORAEY I 2 NEAAL
8,200,000 » 14! 8,200
= 2,500
[ia 5,700
02 2324l 111,262 105,742 5,520
OMtSEaas SRS 250,000 1228 3,000
OUBEANLE ARSI 800,000& »12& 9,600
OUHZEANE SHE= 650,000 128 7,800
OMtEEa e Azl 200,000 x153] 3,000
OMHUZR L LRBALEY RN 22
800,000 *50H 2 40,000
OMMHSAEZE SKE= 10,000,000 * 14 10,000
OMSSE A ANLE RIS
3,000,000& x14! 3,000
OX&IEE HEI SANES 810,0008 128 9,720
Ost=¢TEsa S8 AsH  1,000,000& 1,000
OMHZAIE CCTV H83ld SHRe=s
100,000 x 104 A+ 12& 12,000
OM:HE CCTV RAES+Z 106,763,000& *8% 8,542
OZXZANAHE & NsSIAM & EE=
3,000,000 =1CH 3,000
OXEAAHY XY RFHI 50,000& x12& 600
202 odl 3,120 7,800 A 4,680
01 = LH o4 1l 3,120 7,800 A 4,680
OO E LRFZ(ZSH)
130,000& x2H x12& 3,120
203 Y2 F Y| 2,500 2,500 0
03 AIBFXH S Z=ZH| 2,500 2,500 0




S QHETH LD

I THol & T o
al

SRl THoHAIMTHEl R A& RX

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o dio = Bl RE2
0 &
OEIHHHR FA(SNH) 2,500,000& 2,500
206 M= Hl 8,000 8,000 0
01 T2l 8,000 8,000 0
OMUOES 2 +UTH 2
8,000,000 » 14l 8,000
301 LPEXF 24,000 1,600 22,400
< 12,000
e 12,000
12 JIEE 43 24,000 0 24,000
OZxol2EAY HUEXS
24,000,000 » 14! 24,000
< 12,000
s 12,000
307 glz2tol & 24,600 16,600 8,000
< 2,400
e 22,200
02 HAFHAANHEEX 24,600 16,600 8,000
ONseMHe dofl2E 8,000,000& =14 8,000
< 2,400
s 5,600
OXsLHE 43 At 16,600
— MY 2eu=s 25,0003 70 #4 3| 7,000
—SIEXNF HEES 20,000& x70H 43 5,600
— 2SN, AHEZFFY 4,000,000& %14 4,000
405 Xt&tE SHI 10,100 0 10,100
< 3,030
[ia 7,070
01 XML =SS FH SHI 10,100 0 10,100
Ot S A &ta )| 2¢
10, 100, 000& * 14 10,100
< 3,030
s 7,070
IR=gS = E N 32,580 32,280 300
201 et 28,980 28,680 300
01 At 22l 28,980 28,680 300
OMHEE&EA =2 28,980
—2&g 60,000 118! 7,080
— =X g 60,000 365 21,900
202 04l 3,600 3,600 0
01 = LH 4 Hi 3,600 3,600 0
OMZel L IUA&EE (5H)
300,000 x1H «12& 3,600
Mol IS XL (2X)-THoH AHE THEI (CH22) 802,000 0 802,000
= 398,473




SIS DY Ry
©OTHoH & OTHER o &
© THOHAFA CHEI & &

=13

o

SN

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

M

159,389
244,138

401 AIEHIZ 2 I

MW

802,000
398,473

159,389
244,138

802,000

01 A& HI

Olg2eX 7 S3IMANSUAS NS ZHISA
802,000, 000& x99.37/100

03 Al S THHI

o2+ SZAXNSU/AEXN S HBISA
802,000, 000& *0.6299/100

Mo A

796,948

796,948

398,473
159,389
239,086

5,052

5,052

796,948

5,052

HoHRIE XS HHI(EX)-THHAIE HHI (2 3)

Mo H

1,120,000
557,984
223,193
338,823

1,120,000

401 AIEHIZ 2 HYI

MW

1,120,000
557,984
223,193
338,823

1,120,000

01 A& dI

OZ23X7 SIMASLUAS NS HHISAM
1,120,000,000& %99.64/100

03 Al 2 THHI

O&=sX=7 SZAXNSUKAEXNS HHISA

1,120,000,000& =0.36/100

Mo A

1,115,968

1,115,968

557,984
223,193
334,791

4,032

4,032

1,115,968

4,032

THoHRIE XS HHI(2X)-THHAIE CHHI (2 3H)

Mo R

280,000
140,000
56,000
84,000

280,000

401 AIEHIZ 2 THYI

MR

280,000
140,000
56,000
84,000

280,000

01 A& dI

O3t Mol KT RINBEALAE ALY
280,000,000& %99.2285/100

03 Al 2 THHI

Mo A

277,840

277,840

140,000
56,000
81,840

2,160

277,840

2,160




S QHE T
ol L TG oY
ol THAHANRCHE 2 &

=13

22X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SEENEEEVEESEEEEEELE
280,000,000 x0.77140/100 2,160
StRA Mol & X+ &l 2,794,000 1,760,000 1,034,000
= 245,221
= 338,088
= 2,210,691
MoHASE N A EHH (EX)-MHHASE XN R EH (EAA) 494,000 0 494,000
= 245,221
= 98,088
= 150,691
401 AlEHIZL 20 Y| 494,000 0 494,000
= 245,221
= 98,088
= 150,691
01 Al&H| 490,444 0 490,444
OSAH NATWHASMET R HUIZA
494,000,000¥ *99.28/100 490,444
= 245,221
& 98,088
= 147,135
03 AlE 201 Y| 3,556 0 3,556
O=2A2d NATHMNAEMHNSE X7 HBIZAH
494,000, 000€ *0.7198/100 3,556
Mol & X 2E Y| 2,300,000 1,310,000 990, 000
= 240,000
= 2,060,000
401 Al HI L 204 HI 2,300,000 1,310,000 990, 000
o 240,000
= 2,060,000
01 Al&H| 2,300,000 1,303,880 996, 120
OAISE THoOH RIS 2TAIE HUIAIY
300,000,000 » 1Al 300,000
== 90,000
= 210,000
ONME A THoHRIE 2TAIE HUAIY
200,000,000& * 1Al 200,000
== 60,000
= 140,000
ODIEA THoHRE ZTAIE HU AL
300,000,000& = 1Al 300,000
== 90,000
= 210,000
OX=sA St B2 S 1A (20218 &
H W2 M 800,000 ) 800,000,000 = 1Al 800,000
OFJIad S0t B82S St AY| (2021
EYWEA 700,000&8 &) 700,000,000 x4l 700,000
ANHAZRGIAE AdtE M| 5,418,200 6,727,800 A 1,309,600
o 20,000




A QA Y
2 THol = M o

& MHESA AGHE FH (=& J)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 5,398,200
LG (ME)-AStEZ AL (M EALY) 2,920,200 5,227,800 A 2,307,600
401 Al&HI & 28I ,920,200 5,227,800 A 2,307,600
01 A& HI ,905,295 5,206,591 22,301,296
OLNRsE Lotd FHIAMG(HE)
420,200,000& #99.28/ 417,175
OBOFXl Aot® HHIAZ(HE)
1,700,000,000& *99.64/10 ,693,880
Ont=2 AotE FHIAMY(HE)
400,000,000 #99.28/ 397,120
OMD A5a HHIAY(HE)
400,000, 000& *99.28/10 397,120
03 AIE 2 0HHI 14,905 21,209 A6,304
ONRsE Lotd FHIAMG(HE)
420,200,000 *0.7198/10 3,025
O0t= AotE HUIAIS (& &)
400,000,000& *0.72/10 2,880
ODOtXl AotE FUIA (HEH)
1,700,000,000& *0.36/10 6,120
OA&=2 Aot FUIMY(HE)
400,000,000& *0.72/100 2,880
20t® FHAMS(BEX) 978,000 0 978,000
401 AIEHIZ 28I 978,000 0 978,000
1 A&l 971,839 0 971,839
OY & Aotd HHAY
978,000,000% *99.37/100 971,839
03 Al 20 HI 6,161 0 6,161
OY&E 4dtd HHAY
978,000,000& *0.6299/100 6,161
A0t ztel ,520,000 0 1,520,000
< 20,000
[ia ,500,000
401 AIEBIZ 201 8I ,520,000 0 1,520,000
< 20,000
[ia ,500,000
01 A& Bl ,510,550 0 1,510,550
OLotd RAEFALY 694,960
— S AGHE FHIALE 20,000,000 14 20,000
— 32406t HHIALS 20,000,000& =14 20,000
— HHEAGHE FHIALY 30,000,000& » 14! 30,000
— ZAHLGHE HBIALS 40,000,000& =14 40,000
— SAAGHE HHIALG 40,000,000& =14 40,000
— 2HAGHE HHIALS 20,000,000& =14 20,000
— A E ZHAY 40,000,000& * 14 40,000




A QA Y
|

S THol ¥ OTHEH Ol
& MHESA AGHE FH CEERED)
SA - BB B () - MM - BES Ol &t o San HmEET
— 223 FHAY 10,000, 0002 14! 10,000
—HE=& Zd A 40,000,000& =14 40,000
— ostdE FZHIALY 50,000,000 14! 50,000
—dAaE FUAY 20,000,000& =14 20,000
—S2Zd ZFHAY 100,000, 000& * 14! 100,000
—E2ladd FHAY 20,000,000& =14 20,000
—F=E ZHIAY 50,000,000& =14l 50,000
Ot=& FHIALY 194,960, 000& 14 194,960
Od== &I Jt==& ZHISA
20,000,000& =14 20,000
< 20,000
OActd JIEH HUAY 100,000, 000& * 14! 100,000
OA%td =LA 700,000,000 %x99.37/100 695,590
03 Al S THHI 9,450 0 9,450
OActd =LA 700,000,000& *0.63/100 4,410
OA%td FAEF=ALY
700,000,000& *0.72/100 5,040
A ot & &H bl 3,709,020 6,501,400 A2,792,380
= 76,500
= 1,300,000
[ia 2,332,520
otEME RALZ= 500,000 1,798,000 A 1,298,000
< 250,000
s 250,000
401 Al& I 2 O8I 500,000 1,798,000 A 1,298,000
< 250,000
s 250,000
01 A& HI 500,000 1,798,000 A 1,298,000
OGSt M |FXE= 500,000,000 » 14l 500,000
< 250,000
s 250,000
A gota 2el 1,532,520 0 1,532,520
201 LBt 32,520 0 32,520
01 At 22l 24,000 0 24,000
Odtd==HH ZHl Xz
2,181,8182 1115 ™ 24,000
02 =224l 8,520 0 8,520
Ofotd MM &3 WA JISE &I
= 44,0003 x50 A+ 12 2,640
Oflgtd F&AxY MIRIS
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